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Assiut University June 2021 ~ Faculty of Science
Second Semester - Final Exam - Subject: English language 1 1%t Level

I- Final Exam
Choose the correct answer. - (50x1=50 Marks)
1. G mllal (h pall oo dshall cd '
a. Stepped down b. Took over ¢. Submitted
2, A e Ll ) giiay of dagall Dadal) B a1 5idh ) g Uil
a. Guidance. b. Leadership : c. Flagship
3. el gl e aghas b opstinall L
a. Defined b. Wrote ¢. Insinuated
Sl 353 iy (i il 5 clalll gaa) 48l Luagh
. Helped b. Ordered ¢. Authorized
o OBRY o Al oda peil ¥
- This problem is absolutely ridiculous. b. The root of this problem is unknown.
- I can't make head or tail of this problem.

LR

O

6. One New York publisher has estimated that 50,000 to 60,000 people in the United States want an
anthology that includes the complete works of William Shakespeare. And what accounts for this renewed
interest in Shakespeare? As scholars point out, the psychological insights he portrays in both male and
female characters are amazing even today. What's the best topic sentence for this paragraph?

A. Shakespeare’s characters are more interesting than fictional characters today.

B. people today are interested in Shakespeare’s work because of the characters.

C. academic scholars are putting together an anthology of Shakespeare’s work.
7. If a car suddenly begins to skid on ice, a driver’s instinctive reaction might be the wrong one. Choose
the sentence that best supports or develops this topic sentence.
A. Skids can be a terrifying experience. B. Cars can be very unpredictable on ice.
C. Many people instinctively turn the wheel in the wrong direction, making the skid worse.

8. Each ofus ............ scheduled to take the test. A. was B. were C. does

9. None of the neighbors offered ............ support. A. his or her B. their .  C. there

10. Either Garyor I ............ responsible for allocating the funds. A. am B. are C.is

11. Haley did not mean to ............ that Jenny was to blame. A. infer B. imply C. get

12. Although we can never be sure, some of us ............ him. A. trust B. trusts  C. trast
13. Ricardo is one of those people who like to do everything .... A.himself B. themselves C. his
14. Each boy and girl ............ participated. A. has B. have ‘ C. will
15. Many an interviewee ............ hoping to get hired. A, was B. were C. had

16. Although the professor did not send them the quizzes. This is a/an ............ .
A. complex sentence  B. simple sentence  C. dependent clause
17. Those who did not drown froze to death in the icy water. This is a/an ............ ]
A. complex sentence B. simple sentence  C. dependent clause
18. Wicked Regina cast a spell on the entire city, so the citizens decided to rebel. This is a/an ............
A. independent clause B. compound-complex sentence  C. compound sentence
19. After the teacher chose groups, John and Sara were selected as partners for a project, yet Sarah did
most of the work. This is a/an ............ .
A. complex sentence B. compound-complex sentence  C. compound sentence
20. A 64-year-old man, a legally blind person, and an amputee, has successfully climbed the mountain.

Thisisa/an ......... A, simple sentence B. dependent clause C. complex sentence
21. After listening to the Kanye West CD, I have new respect for his music. This is aj/an ............
A. simple sentence B. complex sentence C. compound sentence

22. You can come with me now or you can walk home. This is a/an ............ .
1



A, simple sentence B. complex sentence C. compound sentence
23. While waiting for the paint to dry, Angela went to Home Depot where she bought some accessories.

Thisis an ...... A. complex sentence B. compound-complex sentence C. compound sentence
24. At 2:18 a.m. on April 15, the sinking ship broke in two, and at 2:20 a.m., it disappeared beneath the
waves. This is a/an ............ . A. dependent clause B. complex sentence C. compound sentence

25. Immediately students began talking about the scary lab incident, exchanged rumors, and shared
posts on social media. This is a/an ............

A. simple sentence B compound sentence - C. compound-complex sentence
26. Because the students had to switch classes. This is a/an ............ .

A. complex sentence B. simple sentence C. dependent clause
27. Those who did not attend 70% of their classes failed the course. This is a/an ............

A. complex sentence B. simple sentence C. dependent clause
28. Cassandra could not go on the ski trip, so she sat on the couch and watched movies. This is a/an

A, independent clause B. compound-complex sentence C. compound sentence

29. I wanted to play the drums, but my teacher wants me to play the trombone because there are too
many drummers already. This is a/an ............

A. complex sentence B. compound-complex sentence C. compound sentence
30. In 1988, Joe King, an engineering professor from California, made a 23-foot exact replica of the Eiffel
Tower from 110,000 toothpicks. This is a/an ............

A. simple sentence B. dependent clause C. complex sentence
31. As Cody sat down on the rickety old chair, it abruptly collapsed beneath him. This is a/an ............

A. simple sentence B. complex sentence C. compound sentence
32. I don't like tea but I love coffee. This is a/an ............

A. simple sentence B. complex sentence C. compound sentence

33. After driving for three hours, the tourists stopped at the Yosemlte National Park where they hanged
out for a while and took some photos. This is a/an ............

A. complex sentence B. compound complex sentence  C. compound sentence
34. At 11:40 p.m. on April 14, lookouts in the sh1p s crow’s nest saw an iceberg directly in the vessel ]
path, but it was too late to change course. Thisis a/an ............

A, dependent clause B. complex sentence C. compound sentence
35. After the crisis, the employer decreased the wages, laid off some workers, and cut out insurance.
A, simple sentence B. compound sentence C. compound-complex sentence
36. I want to ............ down for a nap, but the phone keeps ringing. A, lay B. lie C. lei
37. The gas prices continue to ............ . A. raise B. rise . C.riase

Read the following passages then answer the questions.

The Nobel prizes, awarded annually for distinguished work in chemistry, physics, physiology or
medicine, literature, and international peace, were made available by a fund bequeathed for that
purpose by Swedish philanthropist, Alfred Bernhard Nobel. The prizes, awarded since 1901, are
administered by the Nobel Foundation in Stockholm. In 1969, a prize for economics endowed by the
Central Bank of Sweden was added. Candidates for the prizes must be nominated in writing by a
qualified authority in the field of competition. Candidates are judged by Swedish and Norwegian
academies and institutes on the basis of their contribution to mankind. The awards are usually
presented in Stockholm on December 10, with the king of Sweden officiating, an appropriate tribute to
Alfred Nobel on the anniversary of his death. Each prize includes a gold medal, a diploma, and a cash
award about one million dollars.

38. What does the passage mainly discuss?

A} Alfred Bernhard Nobel B) The Nobel prizes. C) Great Contributions to mankind
39. A Nobel prize would not be given to a ......... Seegevias

A} writer who wrote a novel B) composer who wrote a symphony

C) diplomat who negotiated a peace settlement

40. The word dxstmgulshed is closest in meaning to .............

A) condemned B) related C) notable

41. The word tribute is closest in meaning to ........ccoeeenvrererncivennnes

A) compliment B) obscenity C) variety

42. Which individual or organization serves as administrator for the trust?
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A) The king of Sweden B) The Nobel Foundation =~ C) The Central Bank of Sweden

43. Why were the prizes named for Alfred Bernard Nobel?

A) He left money in his well to establish a fund for the prizes. _

B) He won the first Nobel prize. C) He is now living in Sweden.

44, Each Nobel prize include ....... essees  A) a gold medal B) a diploma C) both

The largest diamond ever found is the Cullinan Diamond. This diamond weighed 3,106 carats in its
uncut state when it was discovered in South Africa on January 25, 1905. The Cullinan Diamond was
cut into nine major stones and ninety-six smaller ones. The largest of the cut stones, and still the largest
cut diamond in the world, is the pear-shaped Cullinan I at 530 carats. This diamond, which is also
known as the Greater Star of Africa, is more than 2 inches (5.4 cm.) long and 1.75 inches (4.4 cm.) wide.
It became part of the British crown jewels in 1907.

45. What is the best title for this passage?

A. Diamond Cutting B. The World’s Biggest Diamond, Uncut and Cut

C. Measuring Diamonds in Carats

46. The word “uncut” in line 2 is closest in meaning to which of the following?

A. Finished B. Unnatural C. Whole

47. The word “discovered” in line 2 is closest in meaning to

A. created B. found C. buried

48. It can be inferred from the Passage that the Cullinan Diamond was cut into how many total
stones? A.9 B. 96 C. 105

49. All of the following are true about the shape of the Greater Star of Africa EXCEPT
that

A, It is in the shépe of a pear B. It is 5.4 centimeters long C. It is 4.4 inches wide
50. According to the passage, what happened to Cullinan I?
A. It remained in Africa B. It was cut into smaller stones

C. It became the property of the British Royal family
II- Midterm Exam

Choose the correct answer. (20x2.5=50 Marks)

51. Which sentence is correctly punctuated?
A. You should bring the following; a sleeping bag, a fly deterrent, and a pair of running shoes.
B. You should bring the following: a sleeping bag, a fly deterrent, and a Ppair of running shoes.

52. Which sentence is correctly punctuated?
A. The young man, whom you met yesterday had an accident.
B. The young man, whom you met yesterday, had an accident.

53. Which sentence is correctly punctuated?
A. You need to buy the following (butter, flour, cheese and yogurt}.
B. You need to buy the following: butter, flour, cheese and yogurt.

54. Which sentence is correctly punctuated?
A. You cannot touch that, her father said, It's too dangerous.
B. "You cannot touch that", her father said, "It's too dangerous."

55. Which sentence is correctly punctuated?
A. The winners ~ Ahmed, Hassan, and Mazen — are given awards.
B. The winners, Ahmed, Hassan, and Mazen are given awards.

56. Which sentence is correctly punctuated?

A. In her usual tone, Raina told us to “be quiet around her office.”
B. In her usual tone, Raina told us to be quiet around her office.
57. Which sentence is correctly punctuated?

A. In my class there are 27 12 year old children.

B. In my class there are 27 twelve-year-old children.

58. Which version uses periods correctly?



A. Dr Harrison will speak at a hotel in Chicago, IL, on Thurs at 3:00 P.M.
B. Dr. Harrison will speak at a hotel in Chicago, IL, on Thurs. at 3:00 P.M.

59. Choose the parallel sentence:
A. He works quickly and in an efficient way.
B. He works quickly and efficiently.

60. Choose the parallel sentence: :

A. He is credited with co-inventing scuba gear, developing a bathyscaphe, and helping start the first human
undersea colonies.

B. He is credited with co-inventing scuba gear, developing a bathyscaphe, and helped start the first human
undersea colonies.

61. Choose the parallel sentence: _

A. His famous boat, the Calypso, was not only his transportation but also giving him a marine laboratory for
experiments. ’

B. His famous boat, the Calypso, was not only his transportation but also his marine laboratory for
experiments.

62. Choose the parallel sentence:

A. Cousteau also helped invent skin-diving gear that freed divers from air hoses and to allow them to float at
will.

B. Cousteau also helped invent skin-diving gear that freed divers from air hoses and allowed them to float at
will.

63. Choose the parallel sentence:
A. Millions recognized Cousteau, who was thin, bespectacled, and he wore a red cap. -
B. Millions recognized Cousteau, who was thir, bespectacled, and red-capped.

64. Choose the parallel sentence:
A. Although he was a sickly child, he liked going to the beach, swimming, and to dive.
B. Although he was a sickly child, he liked going to the beach, swimming, and diving.

65. Choose the parallel sentence:
A. To preserve the oceans for future generations was as important to him as teaching people.
B. To preserve the oceans for future generations was as important to him as to teach people.

66. Choose the parallel sentence:
A. He started out aiming for the skies in naval aviation school but ending up in the water.
B. He started out aiming for the skies in naval aviation school but ended up in the water.

67. Choose the parallel sentence:
A. Cousteau’s films and beliefs influenced people of all ages.
B. Cousteau’s films and what he believed influenced people of all ages.

68. The Saints and Strangers argued about how they would live in the New World. After much discussion,
they came together and signed the Mayflower Compact. The Compact was ]
A. a container for makeup B. an agreement

69. I believe that if you lower taxes so that people can keep more of the money they earn, it will be an
incentive for them to work harder. What is the meaning of “incentive”?
A. a reason to do something B. a small amount of money

70. Most of America's Founding Fathers did not believe in women's suffrage. Only men could vote in the
United States until 1920. What is “suffrage”? A. skirts that did not cover ankles B. the right to vote

Best Wishes: Dr. Marwa M. Abdelmotaleb



Assiut University June 2021 Faculty of Science
Second Semester - Final Exam Subject: English Language 2 1% Level

I- Final Exam _ (50x1=50 Marks)
Choose the correct answer.

I- State the number of morphemes in each of the following words:

1- Stopped a)one b)two c)three d)four
2- Establishments a)one b)two c¢)three d)four
3- Monkey a)one b)two c)three d)four
4- Untranslatability a)one b)two c¢)three d)four ;
5- Activity ajone b)two c)three d)four |
6- Televisions a)one b)jtwo c)three d)four “
7- Reactions a)one b)two ¢)three d) four |
8- Farmer a)one b)two c)three d)four f
9- In a)one b)two c)three d)four
10- Reads a)one b)two c)three d) four
11- Happily ajone b)two c)three d)four
12- Zebra a)onne b)two c)three d)four
13- Undesirable a)one b)two c¢)three d)four
14- Ladylike a)one b)two c¢)three d)four
15- Dislocate a)one b)two ¢)three d)four
16- Carrot a)one b)two ¢)three d)four
17- Tighten ajone b)two c)three d}four
18- Dreamers a)one b)two c}three d)four
19- Reconsideration a)one b)two c)three d)four
20- Dangerous a)one b)two c)three d)four

II- Choose the correct answer:

21- The (a. affected - b. effected) speech fooled no one.

22- He was (a. all together ~ b. altogether) surprised when he saw his friends.

23- The flowers are beautiful, they brighten the room. This sentence is (a. fragment ~ b. comma splice}
24- He is a/ an (a. capable ~ b. able) leader.

25- The teacher who said that grades do not matter. This sentence is (a. fragment - b. comma splice)
26- Will you (a. except ~ b. accept) the responsibility?

27- The affix in "Reappear"” is (a. inflectional ~ b, derivational).

28- We (a. advice - b. advise) you to proceed carefully.

29- She prefers reading a lot he likes watching movies. This sentence is {(a. comma splice = b. run-on
sentence).

30- (a. Assure - b. Ensure) that you lock your car.

31- The affix in "Played” is {a. inflectional - b. derivational).

32- The process by which the word "Redhead" is formed is (a. back formation — b. compounding).
33- The process by which the word "NATO" is formed is (a. back formation -~ b. acronym).

34- The process by which the word "Smog" is formed is (a. blending - b. clipping].

38- The process by which the word "Candy" is formed is (a. clipping - b. borrowing).

36- The process by which the word "To google" is formed is (a. compounding - b. conversion).

37- The process by which the word "To edit" is formed is (a. clipping - b. back formation).

38- The process by which the word "Exam" is formed is (a. clipping - b. back formation).

39- The process by which the word "Bizarre" is formed is (a. borrowing — b. compounding).

40- Wanted to get to class on time. This is {a. sentence fragment - b. run-on sentence).

41- The process by which the word "Into" is formed is {a. compounding - b. blending).

42- A story with deep thoughts and emotions. This is {a. sentence fragment - b. run-on sentence),
43- You must (a. site — b. cite) the source of your information.
44- You have a serious (a. delusion - b. allusion) if you think your cooking is good.




I- Read the following then answer the questions.
Like a lot of other ideas, chewing gum developed when an inventive person was trying to develop something
else. In 1870, Thomas Adams was trying to create a substance similar to rubber. He knew that in the past
natives of Mexico had enjoyed chewing chicle, which was the gum of the sapodilla tree; he thought that this
chicle might possibly be useful as a replacement for rubber. While he was working with it, he decided to try
chewing it, just as had been done in Mexico. He enjoyed the sensation and decided that he should try selling
it. Unfortunately, however, not many people bought it. He then improved the product by adding flavorings and
sugar to it, and he gave out free samples until the product caught on. Though he never succeeded in his original
search for a replacement for rubber, he became highly successful as a chewing gum producer.
45. The main idea of the passage is that........cccceevrvrennenn

A) chicle was commonly chewed in Mexico

B) Thomas Adams invented chewing gum by accident

C) Thomas Adams enjoyed chewing chicle

46. In line 1, the expression “an inventive person” could best be replaced by.............
A) a creative person B) an illogical person C) a destructive person

47. According to the passage, what did Thomas Adams originally want to create?
A} Chewing gum B) The sapodilla tree C) A rubber substitute

48. Which of the following is NOT true about chicle?

A) It comes from a tree. B) Some people like chewing it. C) It is part of the rubber plant.

49. According to the passage, what happened when Thomas Adams first tried selling his chicle product?
A) It did not sell very well. B) It was successful because of the taste. C) People thought it was
rubber.

50. The word “sensation” is closest in meaning to.......ccccvevirennenn.

A) thought B) feeling C) taste
II- Midterm Exam (20x2.5=50 Marks)

A- Choose the prefix the forms the opposite of the following words:

51- The opposite of "legal” is formed by adding the prefix a) im  b) il

52- The opposite of "polite" is formed by adding the prefix a) in b) im

53- The opposite of "active" is formed by adding the prefix a)in b) im
54- The opposite of "responsible” is formed by adding the prefix a) in b) ir
55- The opposite of "happy" is formed by adding the prefix a) il b) un.

B- Choose the one word or phrase which would best keep the meaning of the original sentence:
56- The Chinese people worship their ancestors. a) follies b) forefathers

57- Jan took many snapshots while on vacation in Europe. a) notes b) phbtos
58- Her childhood poverty caused Lucy to be very thrifty as she grew older. a) indigence  b) shyness
59- The Students’ records were not readily aceessible for their perusal. a) available b) accountable

60- The fourth-year sociology class was a homogeneous group of university students.
a) uniform b) unrelated

61- Plato's teachings had a profound effect on Aristotle. a) influence b) affliction
62- His company empowered him to negotiate the contract. a) helped b) authorized
63- The number of unemployed people in our country is increasing rapidly. a) licensed b) jobless
64- Marsha found it difficult to cope with the loss of her job. a) anticipate b) deal with
65- The speaker emphasized the need for cooperation in project that we were about to undertake.
a) accentuated b) discussed
66- The victors defined their terms to the conquered. a) dictated_ b) insinuated
67- Exchanges of language and culture were a direct result of commerce. a) trade b) schooling
68- Lyndon Johnson succeeded John Kennedy as president of the United States.
a) overruled b) followed
69- While they were away on vacation, they allowed their mail to accumulate at the post office.
a) be delivered b) pile up
70- The boundary between Canada and United States has been unfortified for over one hundred years.
a) border b) water

Best Wishes Dr. Marwa M. Abdelmotaleb
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